0,0

OstwaldFarben (0), Y,~88,6
max (m) Buntwert, P40
M Normfarbtafel (X, y)
() Name und Spektralbereich
Rm 561_770 ¥, 520_770
G 475_573 G, 380_561

CIE 1931 X

70005
0,0 0,2 0,4 0,6 0,8 1,0

CG751-1A 1




X,,~=88,58,Y,,=88,59,7,=88,58 B*
%=0,3333y,,=0,3333
A*o=(@g~[a0,a0,y* 30 A Y1e(Y/Y19) /3
B 5=(bo~[bo 1+ Do,y b A1) Y1e( /Y1) /3
ag = a [Xly]

bg = byq [2/}]

ay =1, byp=-0,4

'
n = P40 -40
ag y=ay(Y/Y1g-1) 4.
b, y=boy (Y/Y1g-1)
2yy=0,000,b,y=0,000
ap,4=0,000,by 4=0,000
OstwaldFarben (o), Y\)=88,6

max (m) Buntwert, P40

Buntheit (A*g, B*)

(&

CG751-2A 1




X=88,58,Y,,=88,59,2,,=88,58

xW—O 3333y,,=0,3333

4
1=(@g~[ay tay ytay A])Yls(WYla)lg
1—(b1 by i#br y+by a]) Yag(Y/ Y1)t

8y =ay[(x-0,17Dh]
by =byo [2M]

ay =1, byp=-0,4
Mr;=1,000b7,=0,171

B*

n = P40 -40

g y=agy(Y/Y1g~1)

by y=boy(Y/Y14-1)
2yy=0,000,b,y=0,000

a, A=0,000,b; 4=0,000
OstwaldFarben (o), Y\)=88,6
max (m) Buntwert, P40
Buntheit (A*;, B*;)

73|73 46
p’SYO“ A*l
t >
37 40
2
q 5
T-40

CG751-3A 1




X,=88,58,Y,~88,59.2,~8858 B*,,
%w=0,3333y,,=0,3333

4
A 2=(ax~[8y rtap ytay, A])YJ.S(Y/YIB)US

B*2=(0y-[bz it Dy *Dp A Yae(Y/ Y19 13
8y =2y [(x-0,17Dh] i
b,=ba0 [(Mp1x+bp1)/Y]
a0= 1, byo= ~0,4 oy
mpy=-0,107 bp1=0,369 L Q50—

n = P40 _40 }132\

A y=ay(Y/Y1g-1)

by y=boy(Y/Y1g-1)
a,y=0,000,b,y=0,000

ay A=0,000,b, A=0,000
OstwaldFarben (o), Y\)=88,6
max (m) Buntwert, P40 T

Buntheit (A*,, B*,)

CG751-4A 1




X,=88,58,Y,,-88,59,2,~88,58 B*

%=0,3333y,,=0,3333

A*5=(ag-[ag rtag v+ Al Y1e(Y/Y19) /3
B*5=(05~[b3 r#Ds.+D3 A Y1e(Y/ Y1913

ag = ayq [(x—0,171/y] 4

b3=ba [(Mp1x+bp1)/y]

80=1, byo=-0,4 73

mp;=-0,730,bp,=0,576

n = P40 —40

ag y=ay(Y/Y1g-1)

b y=boy(Y/Y14-1)

a,y=0,000,b,y=0,000

a3 A=0,000,b3 5=0,000

OstwaldFarben (o), Y\)=88,6

max (m) Buntwert, P40 T

T40

Buntheit (A*3, B*3)

CG751-5A 1




X,=88,58,Y,~88,59.2,~8858 B*,,
xW—O 3333y,,=0,3333

4
=(@-{2 20 y20 ) iYL

4—(b4 [4,+ba y+by, ) Yae(YIY19 13
8y = a0 [(x-0,1791y]
b=ba0 [(Mp1x+bp1)/Y]
ay =1, byp=-0,4
Mp;=-0,107 5p;=0,39 |

73
—§f
n = P40 _40
ag y=ay(Y/Y1g-1) 1
by y=boy (Y/Y1-1) 1

a,y=0,000,b,y=0,000

ay 4=0,000,b, ,=0,000

OstwaldFarben (o), Y\)=88,6

max (m) Buntwert, P40 T

Buntheit (A*4, B*4)

CG751-6A 1




X=88,58 Y,,=88,59,2,-88,58 B*
%,=0,3333Y,,=0,3333
A*5=(a5~[as a5,y 35, al) Y1e(Y/Y19) /3
B*5=(Ds~[bs 1*Ds y +bs al) Y16(Y/Y19) /3
as=a,,{(+8,61x-7,19-0,26)4]
bs=hy,{(+1,9%+3,86/-2,40)4]
8y = 0,10,b5, = 0,10

*
Mg,y R=475,503,574,494,E,n : Ats
n = P40 —40 ) 37 40
a5 y=ay(Y/Y1g-1) 4
bs v=boy(Y/Y1g-1) 1 5

a,y=0,000,b,y=0,000

a5 4=0,000,b5 ,=0,000
OstwaldFarben (o), Y\)=88,6
max (m) Buntwert, P40
Buntheit (A*g, B*5)

CG751-7A 1




X,=88,58,Y,~88,59.2,~8858 B*,

XW—O 3333y,,~0,3333
6(86136,1%36,y 3, A]) Yas( Y/ Y1) 13
6—(b6 [Dg,+Dg, v+, A Y1g(Y/Y19)1/3
g = ago [x/Y] i

be=ba [(Mp1x+bp1)/y]
ay =1, byp=-0,4 737

Mpy=-0,730 76

n = P40 -40

g y=agy(Y/Y1g~1) 4

be y=boy(Y/Y1g-1)
apy=0,000,b,,=0,000
ag =0,000,b5,4=0,000

OstwaldFarben (o), Y\)=88,6
max (m) Buntwert, P40 T

T40

B 46

Buntheit (A*g, B*g)

A*g

CG751-8A 1




